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 ここで，
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0 pq << より， 0cos >q  

262

512

tan12

cos
12

cos
2

sin1
cos

cos
sin1

2

2

2

=

+=

+=

=

=
-

+
-

\

　　　　　　　　　

　　　　　　　　　

　　　　　　　　　

　　　　　　　　　

q

q

qq
q

q
q

 

 

 

 

 

 

 

 

 

 



4STEP 数学Ⅱ（新課程）を解いてみた                  http://toitemita.sakura.ne.jp 

3 
 

256 

(1) 

 

sqq

qq
qq

q
q

q
q

q
q

cossin
1

sincos
cossin
sin
cos

cos
sin

tan
1tan

22

=

+
=

+=+

　　　　　　

　　　　　　  

 ここで， 

( )
4
1cossin 2 =+ qq  

( )
qq

qqqqqq
cossin21

coscossin2sincossin 222

+=
++=+

　　　　　　　
 

より，
4
1cossin21 =+ qq  

8
3cossin -=\ qq  

よって， 

3
8

cossin
1

tan
1tan

-=

=+

　　　　　　

sqqq
q

 

(2) 

 

27
296

8
27

512
3
83

3
8

tan
1tan

tan
1tan3

tan
1tan

tan
1tan

3

3

3
3

-=

+-=

÷
ø
ö

ç
è
æ-×-÷

ø
ö

ç
è
æ-=

÷
ø
ö

ç
è
æ +×-÷

ø
ö

ç
è
æ +=+

　　　　　　　

　　　　　　　

　　　　　　　

q
q

q
q

q
q

q
q

 

 

 

 

 

 

 

 

 

 



4STEP 数学Ⅱ（新課程）を解いてみた                  http://toitemita.sakura.ne.jp 

4 
 

257 

(1) 

 pqp
2
3

<< より， 0cos,0sin << qq  0cossin <+\ qq  ・・・① 

 

( )

2
3

4
121

cossin21
coscossin2sincossin 222

=

×+=

+=
++=+

　　　　　　　

　　　　　　　

　　　　　　　 qq
qqqqqq

 

 よって，①より，
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 qq cos,sin を解とする tの 2 次方程式は ( )( ) 0cossin =-- qq tt より， 
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 解と係数の関係より，
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